)

(

1998

40

20

22

26.1

OoO0@Oo00

©
o
<

19.7

33.1

CO2

)

(



CO2

CcO2



CO2 CH4 N20



HFCHCS6




(

)

12 1998
1 CcO2
1990 1991 1992 1993 1994 1995 1996 1997 1998
co2 1 11244] 11478 11622| 11440| 12141 12211] 12369[ 12339] 11876
CH4 21 323 319 316] 315 311 309 302 200 286
N20 310 18.1 176 17.7 176 189 19.3 20.3 211 199
HFC-134a; 176 18.1 194 209 28.1 29.8 300 33.6 316
HFC 1300
PFC-14: 5.7 6.4 6.4 8.7 117 153 16.2 16.4 17.8
PFC 6500
SF6 23900 38.2 435 478 454 454 52.6 50.2 49.7 50.0
1236.3| 1265.2 1285.2| 1268.1| 13494 1369.0( 1383.8] 1383.7| 13355
1400.0
1200.0
O SF6
1000.0 B PEC
COHFC
800.0
CON20
600.0 B CH4
ECO2
0.0
1990 1991 1992 1993 1994 1995 1996 1997 1998




¢ )

( )
>( x x )
A Z(A X X X ) Z( x A x X )
Z( X x A X ) Z( X X x A )
)
)
2
co2 ()
()
( )
(
() (Carbon Intensity) (Energy Intensity)

10




¢ )

1990
66,874
44,876

98
90 6.4
32,974
15,522

CcO2

11

CO2



CO2

CO2
coz]
60000 =550z
40,000 [ +20,085 ]
[-155221] [+39684] 29,426
] [ 12,889 ]
20,813
19,177 ’
20,000 — [ +4537 ] = = [45.192 ] 17.120
10.728 9,768 13270 11,005
H 6469 H 5474 3,847 H
P - . L A I TN 1 RN el
c |£| c c c c c
(0] 0 0 0 0 0 0
2 2 2 2 2 2 2
-20,000 H L]
-40,000 H
-6,191 -23,281 -867 -1,170 -13,188 -15,235
51,496 [ ]
-60,000 L -21,185
(  )1990 1998 66,874 [ c02] ( 9 64 )
[ ]
C )
C )
C ) (
)
4 Co2

12



A

-4,000

-5,000

-6,000

iy

2)
3)
4)

6,000

5,000

[ +5525]

4,405

4,000

3,000

HFCs PFCs SF6

[+1622]

co2
[+3]

1,693 1,719

2,485

2,000

1,000

0
C N
H 2
1000 Hy —%

2,000

» Om =T

» O|m o
bl

-2581

3,000

-4,986

1998
€02

€02 CH4 N20

1998

]

GHGs

co2

1990

5.0 )
1995

CH4 N20

HFCs PFCs SF6

13

[1]

CH4

1995

63,048 [




